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,QIRUPDWLRQ3UHVV

/HGDQGH EHIDWWQLQJVKDYDUH I|UYlUYDU N|SRSWLRQHU L
$VVL'RPlQ

57 OHGDQGH EHIDWWQLQJVKDYDUH LQRP $VVL'RPlQ KDU I|UYlUYDW WRWDOW 59; 333
N|SRSWLRQHU L $VVL'RPlQ $%1 9LOONRUHQ I|U HUEMXGDQGHW LQQHElU DWW EHU|UGD
EHIDWWQLQJVKDYDUH I|UYlUYDW SDNHW EHVWnHQGH DY WYn ROLND N|SRSWLRQHU1

/|VHQNXUVHQ I|U N|SRSWLRQ PHG I|UIDOO GHQ ; PDUV 5335 XSSJnU WLOO 453( DY GHQ
JHQRPVQLWWOLJD DNWLHNXUVHQ I|U $VVL'RPlQ $% XQGHU SHULRGHQ <048 QRYHPEHU1 )|U
N|SRSWLRQ PHG I|UIDOO GHQ ; PDUV 5338 XSSJnU O|VHQNXUVHQ WLOO 466( DY GHQQD
JHQRPVQLWWOLJD DNWLHNXUV1 (UODJG RSWLRQVSUHPLH SHU N|SRSWLRQ XSSJnU WLOO 4<
UHVSHNWLYH 57=83 NURQRU1 'HW K|JVWD WRWDOD DQWDO N|SRSWLRQHU VRP HQVNLOG
EHIDWWQLQJVKDYDUH I|UYlUYDW lU 5713331

.|SRSWLRQHUQD KDU XWIlUGDWV DY '1 &DUQHJLH $%1

$VVL'RPlQ $%
&RUSRUDWH &RPPXQLFDLWRQV
4<<<044043

)|U \WWHUOLJDUH LQIRUPDWLRQ=
$QQD0/HQD 1\EHUJ/ 6HQLRU 9LFH 3UHVLGHQW/ +XPDQ 5HVRXUFHV/ WHO 3;0988 <5 4:

$VVL'RPlQ lU HWW DY (XURSDV OHGDQGH VNRJVLQGXVWULI|UHWDJ1 7LOOYHUNQLQJHQ lU NRQFHQWUHUDG WLOO VnJDGH
WUlYDURU/ I|USDFNQLQJVSDSSHU RFK I|USDFNQLQJDU1 .RQFHUQHQ/ VRP lU HQ DY (XURSDV VW|UVWD
E|UVQRWHUDGH VNRJVlJDUH/ RPVDWWH 4<<; FLUND 57 PLOMDUGHU 6(. RFK KDU FLUND 4: 333 DQVWlOOGD1
$QWDOHW DNWLHlJDUH lU GU\JW 5:3 3331


